Model Paper
A.P. Forest Department

0g VBT VO] T

Question paper for recruitment of Forest Beat officers

F3Y Dew BT GHO JodE H HI) DYIW

Subject: General Mathematics Time: 1 hour 30 minutes
D8 D 1 BICSITG I8y, DA0aHAW 1 1 oty 30 QBDR\VeD .
Total Marks: 100 Qg doeden 1 100

Instructions / Hoeessden :

1. Answer all questions.

©d) VB) VDO DITFHOND P oIV

2. Answers are to be marked on the OMR sheet supplied. Every question is provided with four
answers. Only one of these answers is correct. Correct answer is to be marked in one of the circles (A
or B or C or D) by filling the circle with black ball point pen.

DBPEHa0e0 OMR DES0 &° 18 05308 . RO HF) & TP VITEPHIVL FIWAEDD . DB’ 28
RDBEEDB0 PG DO AV . D8 AD VITrEHAID (A/B/C/D) deodorr &d) e’ooa"lé‘ N3]

25 Jrooés 0008 .

3. The OMR sheet should not be folded or crushed.

OMR D¢ a0 80660 Sy FE 39D Sab DEp.

4. Question numbers 1 to 20 carry one mark each and question numbers 21 to 45 carry two marks
each. Question numbers 46 to 55 carry three marks each.

1 &00d 20 565 tfo DI 0H , PO PIY O 1 Ardd), . 21 od 45 HEH o VI VD PO VIO 2

Sord)en . 46 Ao 55 H6H Ho PI) D PB B¥) D 3 Srd)en.

5. No negative marking for the wrong answers.



é:ab DAPTID VD éu"dobw é(}’ o9 ED).

6. Cell phones / calculators and slide rules are not permitted in to the examination hall.

D8 F S8 PRy, 2O TFeE en (Calculators ) 8ok Eren B0 &) .

7. Please do not write anything (name or hall ticket number) on the question paper. Two blank
sheets are added at the end of the question paper. These sheets can be used for doing rough work.
No additional sheets for rough work will be given.

Q) PGB0 P M DATEERD DB P M A (Do / 386 Sorth ) G oD HE. PFT°) DGIW
DIES° Foch By SPHBIWED ot DADD. 6D D) & SABIWVY P BKOED Jy . 6D HE) Fo1w

OEDIVM 3 SeAGVLD RO WG -

8. Make sure that you fill the details like name, hall ticket number, category etc. before start of
answering of the question paper on the OMR sheet.

Q) DGIOIH DITEHHVen °R o, OMR DB I0S® D, Qo Hdokw R8s
DdHGB0en RrBo Sodk.
Q-

1. Thesumof2! 3%and 4%is:

21, 3%, 4% © 20gaw dod?

(A) 24 (B) 23 (C)65 (D) 75
2. V169 can be written as:

V169 &0 & o0& Do (1 Frasodeidy
(A) 10 (B) 11 (€) 12 (D) 13
3. The HCF of 12 and 28 is:
12 208050 28 © . . (1 doth?
(A) 2 (B)3 ©4 (D) 36
4. The square root of 0.0016 is:

0.0016 & 58 BareB3 Joss?

(A) 0.04 (B) 0.02 (C) 0.01 (D) 0.16



5. A person took a loan of Rs 1500 from his employer for 3 months at 12% per annum simple
interest. The amount he has to return is:

28 H53 1500 crroposn e due 0w 12 % 3¢ p SoHo) , 0o B8 HOVD G Jod

o

?
(A)Rs 45 (B) Rs 1500 (C) Rs 1545 (D) Rs 1455
6. If the area of a circle is 154 square feet, what is its diameter in feet?

28 By B, PTrOGOL 154 SE6D wcdren AR, &9 BB SeFROBW (e9¢r000e5° ) does ?

(A)22/7 (B) 7 (C) 11 (D) 14

7. In agiven school, there are 240 boys and 260 girls. What is the ratio of the number of boys to the
number of girls?

208 FrsTro &S° 240 erendd 208030 260 erdgen &) , @ G S°D erend B erdse DS docs ?

(A) 1:1 (B) 13:12 (C) 12:13 (D) 260:240
8. A man purchased a bundle of cloth, with a list price of Rs 20000, and a sales tax of 10%
on it. He paid Rs 25000 to the shopkeeper. The money he got back was :
08 B8 8 Trad o 20000 drrope £, od P 10 % B8 D0 . w3 D) cesrdd
25000 sraroen B3YodS |, 9sds 8o SN $3°&§.Dé Doeh ?
(A) Rs 22000 (B) Rs 15000 (C) Rs 3000 (D) Rs 2000
9. The area of a circle is 314 cm2. If = 3.14, then its circumference is:

w8 )8 Fogdw 314 Bes) 2086 . Tt Dewsd 3 .14 0o , &8 Byeh D) hotp oS dods ?

(A)37.4cm (B)31.4cm (C) 62.80 cm (D) 68.20 cm
10. What fraction of 1 hour is 15 minutes?

208 o) &° 15 Daonsmwen as; Hoehd ?

A. 1715 B. 6/15 C. 1/4 D. 4/1

11. N is one of the numbers below. N is such that when multiplied by 0.75 gives 1. Which number is
equal to N?

& 3005 ADND Doy © S g NDewsdd . N 0.75 & 3DNoDD DBy Dewd 3. N Dewsd ok ?

A) 0.50 B) 1.0 C)2 D) 4



12.1fsin@ + cos 6 =2 cos 6, the value of tan 6 is :Type equation here.

sin@ + cos B=2cos B, @5 tan B Dewd Joss ?Type equation here.

(A) 2 (B) 1 (C)2-1 (D) 2 +1
13. Simplify : (v 10000) / (v 16)

(v 10000)/(v16) &o : (SR IR

(A) 10000/ 16 (B) 10 (C) 25 (D) 50
14. Value of kif 64 +k = 2.

64+k=22a3,Kk dend dosd ?

(A) 4 (B) 8 (C) 16 (D) 32

15. The two sides of a right angled triangle (other than hypotenuse) are 9 cm and 12 cms. Find the
circumference of the triangle.

28 o2 B GaHasn dIng) FHBBVL (550 52 Zoadwen ) 9 VoBAeE B0k 12 Vot B,

&8 8202 Wb Seoreh doeh?

(A) 30 cm (B) 36 cm (C)42cm (D) 48 cm
16.1+0.05="
A.0.02 B.0.2 C.2 D. 20

17. A person walking at a speed of 4.8 kilometres an hour can cover how many meters in one
minute?

(lotrs> 4.8 3 oeogd  Drtsdw & IAB 28 B8 |, 208 DdwRBw & IV Dot DS ?

(A) 100 (B) 120 (C) 80 (D) 160

18. The perimeter of square A is 3 times the perimeter of square B. What is the ratio of the area of
square A to the area of square B.

A D S3060H0 Bg); ot Sod, B e9do 9d0s0a0d0 38y 23 A S0dain B 09dustw © deregEm
[3) :)IQQG;? doed ?

(A)1:3 (B) 3:1 (C) 1:9 (D)9:1
19. At a book stall, a discount of 20% was allowed on each book. A book was purchased by

a customer for Rs 100, its marked price was :



28 YL 5PRBw & P DRPEDW P VW G6 ¢ 20 % Tond FDND |, FRFDTHED 2.8 RSB0
0% 100 doraraien Do |, e ZDPSHW e GG Jo ?

(A)Rs 110 (B)Rs 120 (C) 125 (D) Rs. 130
20. What is the value of 1 /v16 ?

1/V16 Dend o ?

A. 0.0025 B. 0.025 C.0.25 D.25

21. A train running at the speed of 60 km/hr crosses a pole in 9 seconds. What is the length of the
train?

A. 120 metres B. 180 metres C. 324 metres D. 150 metres
Answer: Option D

(loeag> B0 3" erg Deidw & DeSBD) 28 Tew , DTV V&Y D EJ) 28 KoL 9 Dby & TR, e
Bew Pty dos ?

A. 120 Svexp B. 180 oeao C. 324 Doeoo D. 150 Svexcd

22. A rectangle A with length 20 centimetres and width 10 centimetres is similar to another
rectangle B whose length is 30 centimetres. Find the area of rectangle B.

10 oB3derg Deseny 0003w 20 DoBrg T do &Y Susaw (A ) , 08 Hd & &) 40
208exg e (o 08 BY 6B X0 (B) % G B . & &Y 9ACRHW (B) g @ 7 o5 Josd ?
(A) 200 cm? (B) 600 cm”® (C) 800 cm® (D) 1000 cm?

23. 1/4 =7 (indicate in % / % &° @enspaw )
A. 4% B. 1% C.0.25% D. 25%

24. 0.05="? (indicate in % / % ¢° @enspan )

A. 50% B. 500% C.5% D. 0.5%
25. If 80% of a number is 40, what is 10% of the number?

28 Dogyg G0 80 zresy Dewsd 40 @, es R0 DO FBLY DD Hod ?

A. 50 B. 5 C. 20 D. 2

26. Which is the greatest?



& 800 D & DGO 6 ?

A. 90% of 10 B. 6% of 1000 C. 5% of 1400 D. 3% of 2500

27. George bought a car at Rs.10000 and sold it at Rs.12500. What benefit, in percent, did he
make?

&P 28 520 D 10000 draroo £, 12500 drdrohed e.og)oée‘é , 953 b&‘)c‘é ePES FPBA0 Joh ?

A. 25% B. 10% C. 12.5% D. 5%

28. What is the volume of water that can be filled in a pit having dimensions of 10 m X 8 m X
1.25m?

A. 100 B. 100 m C. 100 m? D. 100 m®

10 2ot X 8 Qotagh X 1.25 ot orsten es0) 2.8 (odh &, D) Dy Do Hison ?
A. 100 B. 100 Qoeaco C. 100 e5e562n oeadd D. 100 3083 oeadd

29. Which two fractions are not equivalent?

& 800 D) B © &S D Totd DBV

A. 1/2and 2/4  B. 4/3and8/6  C. 1/5and 3/15 D. 2/3 and 8/9
30. Arrange from least to greatest: 8/9, 17/18 ,2/3,7/6.

DB B H 08 LD DO groswww: 8/9,17/18,2/3,7/6 .

A. 8/9,17/18,2/3,7/6 B. 2/3,8/9,17/18,7/6
C. 8/9,2/3,17/18,7/6 D. 2/3,7/6,8/9,17/18

31. Pump A can fill a tank of water in 5 hours. Pump B can fill the same tank in 10 hours. How long
does it take the two pumps working together to fill the tank?

A. 3 hours and 30 minutes B. 2 hours and 30 minutes
C. 2 hours and 20 minutes D. 3 hours and 20 minutes

Feow A a8 §§5 ($0820¢5° Do . 0 8D, Feow B, 10 fotr0e5” Do (s, & Todd Femen

(A 200050 B) £8% , &8 §§ D dos 2aahn & dod oD ?
A. 3 totoo 30 Dadoaren B. 2 fotrer 30 Dssoren

C. 2 tfotoe 20 DAaren D. 3 tfotrer 20 Dsdoren



32. The length of a rectangle is increased to 2 times its original size and its width is increased to 3
times its original size. If the area of the new rectangle is equal to 1800 square meters, what is the
area of the original rectangle in sg. meters ?

8 BF SBOCRID g, FED Tododen DBAKD DERVY P Tt ( SPENT SO BY SBICHD
DT 1800 SE6) Qeh @D, DGLIT &) BY SBIBVRD DTOED o (SBBLD Weages’ ) ?

A. 300 B. 600 C. 900 D. 1200
33. To have F + 2 5/7 =6, F must be equal to

F+25/7=6¢&F densd doss ?

A 217 B. 12/7 C. 22/7 D. 3 2/7
34. The total surface area of a closed circular cylinder of radius 3.5 m and height 7 miis :
(A) 77 m? (B) 154 m? (C) 231 m? (D) 308 m?
Totd PV JrDd &) wE P DA g, TEGAN3 .5 Do 00k I T M B | &8 Ky AW
o)) E00S DTV Do ?

(A) 77 sesszp e (B) 154 wsesozp gy (C) 231 wsessszy o> (D) 308 M2 esessszy Doeadd

35.Iftan 8 =%, then Sin B is:

tan 6=, @5 ,SinB =7?

(A) 4/5 (B)3/5 ©) 4/3 (D) 5/4
36. Calculate the circumference of a circular field whose radius is 7 meters (in meters)

By SBaw S &) w8 Todw dog), THPEa 7 D . & Todn doy), Sty Sosy Do ?

A) 22 B) 44 C) 66 D) 88

37. The rectangular playground of a school is three times as long as it is wide. The area of the
playground is 300 square meters. What is the perimeter of the playground in meters?

08 B SAOFTT 6 & &) W QOB B0 T T DEWND DU BEY . &2 RO D G0
300 396365 Doeachd . es e RO ot Eod V) Qe ?

A) 80 B) 100 C) 150 D) 300
38. (9X-6)+(-5x+7)=?

A ld4x+1 B. -4x-1 C.4x+1 D. 4x +13



39. In a school 50% of the students are younger than 10, 1/20 are 10 years old and 1/10 are older
than 10 but younger than 12, the remaining 70 students are 12 years or older. How many students
are 10 years old?

w8 FOTV S ad)  BAW 3)5)*5830956 D30 2006 10 Dods6aw &'y Tw; 1/20 o doso 10
RoDSBVGHD © DR T . 1/10 Doty 38 dokw 10 Bod 12 odSyBowen. AdD e 12
RODAVGHD © ET7) IO H HADKD T 12 DoDBWID © 7P D dobrw & 70 @, 10

R05SYB © HOHRY T Dot ?
A 5 B) 10 C) 15 D) 20
40.ifx =3 and y= 4, what is the value of v(x* + y*)

X =3 200050 Yy =4 ad , V(X +Y*) dend doss ?

A) 25 B) -25 C) 5 D) -5
41. The volume of a cube is 27000 cubic centimetres. What is the surface area of the cube?
208 DD AL DO HBBIERAD 27000 085 208 Doeadd . &8 DODY €08 B DFOFBN V) WG
208) Doead ?
A) 54 B) 540 C) 5400 D) 54000
42. The table shows a relationship between x and y. Find y when x = 14.

& 08 QD 2GD :o% g X 00050 Y o D0csg €3 VOROGHD K0 B B0od. X Dend 14 a2 , Y dewsd

doeh ?
X Y
0 2
4 10
8 22
10 27
14 ?
A) 30 B. 32 C) 36 D) 37
43, In a bag of small balls 1/4 are green, 1/8 are blue, 1/12 are yellow and the remaining 26

white. How many balls are blue?

28 %00 & 0w 1/4 5 Hodo e sy, 1/8 5 ok Dersan 0003w 1/ 12 & Hocho Hio) N

Sotd> &5° &é&é’). QADD ex0chren BV, BY wochoen 26 A, Do Gordd exocoen Db& ?

A) 6 B. 12 C) 18 D) 24



44, A car is traveling 90 kilometres per hour. How many meters does the car travel in one
second?

28 526 (oeaed 90 86" otrhe D & DOyD , DEW O V) Mergd HatFEdocidN ?

A) 5 B.25 C) 20 D) 15

45. Two ships are sailing in the sea on the two sides of a lighthouse. The angle of elevation of the top
of the lighthouse is observed from the ships are 30° and 45° respectively. If the lighthouse is 100 m
high, the distance between the two ships is:

A.173m B.200 m C.273m D.300m

Tochd &ucten VANEHL S GBS S°D &) T IO IO AW VO G D. 8 Lcken , T TD P IS
30 00030 w3 &8 © e & ( AIPonS 9D JDDAS ) G0) D . & JE IO I 100 Qe A, &9 Bocd

LRI J) &53(55 GIrGEA0 doed ?
A. 173 St B.200 ot C.273  Hoexd D. 300 Sotac

Answer: Option C

46. Four congruent isosceles right triangles are cut from the 4 corners of a square with a side of 20
cms. The length of one leg of the triangles is equal to 4 cms. What is the area of the remaining
octagon in sg. cms ?

20 208 Qtag F@B0 (0 w8 IBUORI CIVE), DL JrvL ol 4 Do g HBBW (L VBRIV
Q2RI EQ00DD ( Fod DOBES® BPDD DGV ), DADD (28 SACPINS" ) PFoUgHD Jodh (56565 20083

Soerg &°) ?

A. 368 B. 400 C.32 D. 80



47. Find the total surface area of the box open at the top.

PO BED G DY 60O SO D TV Jodh?

11cm

Fom

12 cm

wwww.analyzemath.com

A) 400 cm? B) 570 cm? C) 600 cm? D)670 cm?

48. If a trench is to be dug around playground which is 20 m wide and 60 m long and if the
dimensions of the trench are such that it is 1 m wide and 1 meter deep, what is the earthwork
involved in cubic meters?

20 otag dcteny , B0 erg T ) w8 et VOB W, 28 WD Dty BOOIN 28 DD S’

$0658:500%0 FDH , WS K00 DBy BEY PO HOJTFEAD IV) POV eH?

A. 160 B. 164 C. 1360 D. 1200

49. Find the unknown angles (x and y) in the figures below.

& 806 DA S5° X HO0KL Y DenDVK BLZHAL

wiww.analyzemath.com



A) 26°,64° B) 64°, 26° C) 64°,52° D) 52°, 64°

50. A train travelling at 72 kmph crosses a platform in 30 seconds and a man standing on the
platform in 18 seconds. What is the length of the platform in meters?

(lotagd 72 865° Dotog Driw & DYDY 8 Gew P& FGo 2030 Dby &0 BB P & Fo

60) 28 00D 18 Dby S°0 TRDBB . &2 P & FCo TP Jocs?

A. 240 meters B. 360 meters C. 420 meters D. 600 meters

51. Three years back, a father was 24 years older than his son. At present the father is 5 times as old
as the son. How old will the son be three years from now?

QU DVoDB\G0R $§850 Bod OOy, AT DRy ST 24 RoDSyBaw e DSJGCD . PR B
, S0 OOBRDY SO LoV ) DOy EJ°) 5 Bew DSJGQ - STCEOVODDNCDD © SIS , AT OOBRDY

dodd ?

A. 12 years B. 6 years C. 3 years D. 9 years
52. What is the volume of a cone (in cubic meters) which is with radius of 7m and height of 15m?
wE Foan OIS’ &R ShEdn g 15 e Woan T TERGED T DL @D, T PR
B:30°£a:00 (302D eageS® ) o ?

A 770 B. 870 C.970 D.1070

53. A car travelled 281 miles in 4 hours 41 minutes. What was the average speed of the car in
miles per hour?

28 =6 281 Do¥y BrE 4 Gotow 41 DaHI0S D@Qé , €3 B8 (502D D@Qé Vo0

BB Joch ?

A. 40 miles B. 50 miles C. 60 miles D. 70 miles

54. Pump A can fill a tank of water in 3 hours. Pump B can fill the same tank in 6 hours. How long
does it take the two pumps working together to fill the tank?

200G 00D w8 FG I3 fotrw &' LB Tockd 20D 6 otrw S°0 VoD (LY. oty Hod e

€02 &8 & D Jodh DLOLBNS” VoD (VY ?

A. 90 minutes B. 120 minutes C. 150 minutes D. 180 minutes
55. Which of these is a not a right angle triangles?

& 800 D & Q Qzbedn vow S GEadnsedd ?



A)

C)

B)

3.9

www.analyzemath.com

C.C D. None
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6. Cell phones / calculators and slide rules are not permitted in to the examination hall.

D8 F S8 PRy, 2O TFeE en (Calculators ) 8ok Eren B0 &) .

7. Please do not write anything (name or hall ticket number) on the question paper. Two blank
sheets are added at the end of the question paper. These sheets can be used for doing rough work.
No additional sheets for rough work will be given.

Q) PGB0 P M DATEERD DB P M A (Do / 386 Sorth ) SO HEY. PT°) DGIW
DIES° Foch By SPHBIWED ot DADD. 6D D) & SABIWVY P BKOED Jy . 6D HE) Fo1w

OEDIVM 3 SeAGVLD RO WG -

8. Make sure that you fill the details like name, hall ticket number, category etc. before start of
answering of the question paper on the OMR sheet.

Q) DGIOIH DITEHHVen °R o, OMR DB I0S® D, Qo Hdokw R8s

DdHGB0en RrBo Sodk.



